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mst | mamon | SODE R LIFRRROSHR

HORK NORK HHORK NORK

1 fESEHEERR - s 8 5

2 | BEHEER- =JIN 7 5

3 | BSRHERR- B 5 12

4 | BSEHEBRR- ABX 0 3

5 | BSEHEEER- &ho 1 14

6 | BSRHEEER- ] 4 8

T | BSEHEER- FER 3 10

8 | BSRHERR- BE 7 10

9 | BsRHERR- HES 3 8

10 | MBSEHEBER- EHEHL 3 7

11| BsRHEEER- [CEd 5 7

12 | BSBHEERR- £ 9 5
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gt - 1 RABREES TEREE, Rk TSEPRE  MAERISITRE
2 ~ IR (%) = (HIRARIE - REERE) + HIRERE X 100
3 v AChEHIHIRAERERRIZL :
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mst | mamon | SODE R LIFRRROSHR

HORK NORK HHORK NORK

1 fESEHEERR - HES 1 6

2 | BEHEER- VNS 1 4

3 | BSRHERR- BF 0 4

4 | BSEHEBRR- £ 0 5

5 | BSEHZEER- &ho 3 8

6 | BSRHEEER- &R 4 5

7 | BSRHERR- R 7 9

8 | BsEHEER- I 2 6

9 | BSEHEERR- L% 3 1

10 | BSBHEERR- oW 5 9

11| BsRHEEER- BIF 1 1

12 | BSRHEEER- | BH/VRAE 0 0
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gt - 1 RABREES TEREE, Rk TSEPRE  MAERISITRE
2 ~ IR (%) = (HIRARIE - REERE) + HIRERE X 100
3 v AChEHIHIRAERERRIZL :
(1)0—-34%(=34.5)&:68-
(2) 35—-44% (=44.5) DULSE : BAAMEIEARIEINS - WHRRETREEBHHNS -
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HORK NORK HHORK NORK

1 BsREEEER- BR 7 12

2 | BSRHERR- H#ES 2 12

3 | BSRHERR- ZNZ3 S 5 4

4 | BSEHEBRR- £ 10 12

5 | BSEHEEER- Sk 9 2

6 | BSEHEER- pEES 6 6

T | BSEHEERR- /I 6 9

8 | BSRHERR- ] 6 10

9 | BsRHERR- M=R 10 6

10 | BsEHEEER- LLI%E 10 9

11| BREEsER- | EAR 10 11

12 | BSEHEERR- AN 10 6

B FE i R C
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2 ~ IR (%) = (HIRARIE - REERE) + HIRERE X 100
3 v AChEHIHIRAERERRIZL :
(1)0—-34%(=34.5)&:68-
(2) 35—-44% (=44.5) DULSE : BAAMEIEARIEINS - WHRRETREEBHHNS -
(8) 45% (>44.5) DEE : BLERSZAHEE - WERFBREEMIIGE - RERXEESAREIER
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